TR 184E

o5 2 ZAE | A4 A
(H#ESH) | BB A
—{%IE B
XE |[SECC)| KECC) [HEBUKE[ FiR 48 B&
48] Bh 23.0 16.5 == BE et - R mR
68| ®Bh 24.0 21.0 == BE B -t mR
8A| mEh 32.3 28.0 == BE ket - me
108 Bh 28.9 23.4 xE B BE-h e
128] Bh 16.2 15.4 == BE B -t mR
28| Bh 15.5 15.0 xE BE B - i
4ERIBER 3
oH DO BOD SS KEEHK
(mg/) (mg/) (mg/l) | (MPN/100ml)
E&(E] 65~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHIE(75%1E) - 9.1 0.5(0.5) 2 400
48] 68 8.3 <05 <1 -
6A] 70 9.4 <05 <1 2
8A 6.4 8.5 <0.5 1 —
10A8] 80 8.7 05 6 800
128 756 9.7 05 <1 -
28] 76 10 05 <1 -
BEER
NI INED S £ ANEvAL] WME fKER 7L ILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEAE(E] 0.01LLF | EEHE | 001LLF | 0.058LF | 0.01LLF | 0.0005LLF
EE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8AH - - - - - - -
108]| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
128] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2R - - - - - - -
So00A e |1L,2-000(1,1-0500] > X-1,2->50][1,1,1-F)%0
PCB .y miEfaR | DOl IRy NTFLY RIS
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
BE#EE] ERE [0.02LLF ] 0.002LLF [0.004LLF [ 0.02LLF | 0.04LLF 1LF
Sy - <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48 - <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6 H - <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8Al - - - - - - -
10H - <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12H - <0002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
24 - - - - - - -
1,1,2-+y4 [RUYaA|Fr5400x(1,3->50A — . —sen FARA
aoxsy [ TFLY | FLr  |oFaRy FOIL| YRDY )%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#(E]0.006 LT[ 0.03LLF | 0.01LLF [0.002LLF [0.006 L F] 0.003LLF | 0.02ELF
SEHfE] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4A[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8AH - - - - - - -
108]| <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12 8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2A - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E{E] 001LLTF (001 F| 10LLF 0.8LLF 1UF |
I <0.001 <0.001 0.19 0.3 1.0
48| <0.001 <0.001 0.27 0.1 0.1
6 A] <0.001 <0.001 0.17 0.2 <0.1
8H - - - - -
10H] <0.001 <0.001 0.08 0.8 2.9
12H] <0.001 <0.001 0.24 0.2 0.9
28 - - - - -
ZTDHIEE
N e 2EX | &% @ | 2E® | soofus [Tl
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EoE] - 0.28 0.012 <0.04_| <0005 - -
7y: 1 0.35 0.008 <004 - - -
6A| - 0.27 0.011 <004 - - -
sA| - - - - <0.005 - -
108 - 0.19 0.015 <004 - - -
128 - 0.30 0.013 <004 - - -
28 - - - - - - -
R[] EIHERTE | VB : = = s
IT/=| kS coD el > AE BERzEE
(mg/D) | (mg/) (mg/1) (mg/1) (mg/1) () (uS/cm)
EoE] - 3500 0.9 <0.01 <0.01 = =
4R - 630 <0.5 <0.01 <0.01 - -
6 A — 1300 0.9 <0.01 <0.01 - -
8H = — 0.9 - - - -
10AH - 8000 1.7 - <0.01 - -
12H — 4200 0.7 — <0.01 - -
2H — — 0.9 - - - -




